	Question
	A Question is given followed by two Statements 1 and 2. Consider the Question and the Statements. 
Question: What are the values of m and n, where m and n are natural numbers ? 
Statement-1: m + n > mn and m > n. 
Statement-2: The product of m and n is 24.
Which one of the following is correct in respect of the above Question and the Statements ?

	Type
	multiple-choice

	Option
	The Question can be answered by using one of the Statements alone, but cannot be answered using the other Statement alone.

	Option
	The Question can be answered by using either Statement alone.

	Option
	The Question can be answered by using both the Statements together, but cannot be answered using either Statement alone.

	Option
	The Question cannot be answered even by using both the Statements together.

	Answer
	3

	Solution
	

	Positive Marks
	2.5

	Negative Marks
	0.83



